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Note : —  Answers may be wntten either in English or in Hmdl but the same medium should

be used throughout the paper.
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All questions are compulsory.
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1. Determine by truth table the logical status of the following statement form :- 3
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_.Test lhe valldltvlln\«alldlty of the followmg argument by using the truth table method : 4

If a man goes to the Umversnty, then he has a chance to develop hIS natural mtelllgence If
a man has inqui_sitive mind, he will go to the university. A man has inquisitive mind. Therefore

he has a chance (0 deVeloﬁ‘his’natui'al' intelligence.
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Teg_ the validityfmvahdnty of the following argumem forms by using Reducno ad Absurdum
(Do any nwo) : | ' 5
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Reduce the following into their conjunctive or dISjlmcllVC normal form;(Do any one): 6
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Using truth tree method determine the validity/invalidity of the following (I)o any one) : 6
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Cive duals of the following schemaa. Justify your answer @ 4
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Prove that a schema S, implies a schema S, if and only if the-dual of schema S, implics
the dual of S|.
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Svmbohzc the following argument and construct a formal proof : 8

If Jones gets good percentage of marks then Jones is intelligent. Either Jones gets good
percentage of marks or she studlcs in a reputed college and pass the course. Jones is
" ot intelligent and Jones does not study hard. Therefore she studies in a reputed college.

(G.'1, C. P, S).
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-Constr.'thlct a formal proof of the following arguments (any /o) :
ﬁqﬁm'gﬁaﬁﬁm-mﬁmmcﬂa):
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Symbolize the following (Do any three) : L
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(iii)
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v)

Some studems are honcst and creative.
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Violence on ;vom-e'n will stop if and or?ly if strict laws are made and irhpiem;éht'ed.
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Few employ;:;s are neither hardwdrking nor sincere.
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Either we should save water or waste it. |
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It is not the case that price rise and job opportunities are the only issues for these

elections.
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Write a short note on any one of the following :
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Define the following expressions into stroke (Do any one) :

Frefafan sfiefedl @ <% o § sfofi i (9 @ Ffm)

i) (pog)vr

(i) ~~pv(ip>~q)
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(i) Paradox of Matenal Implication
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(i7) Thrqe Laws of Thought.
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Translate the following sentences intol the notations of propositional functions and quantifiers

(Do any four) : ' ' 8
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(/) - All professional athletes are healthy and strong. (Px. Hx, Sx)
it W YaF @ a9 99E ea e

(i) : Every scientist is a serious thinker. (Sx..Tx) .
%{ﬁﬁmF@TMTﬁmwil

(iif) None bﬁt_brgvc z.md patriots are recruited in the army..(Bx_. Px, Rx
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(iv) Only students have cxpcnswe moblles (Sx. Ex)
Fam o B U HE I?IETGH e %l |
(v) Not all policies of social reforms are implemented. (Px. 1x)
s gu # W Al @ @ A E
(vi) Some officials are not corrupt. (Ox, Cx)
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“Construct a formal proof of validity for any two of the following arguments (one each from

a and b) ' | ' , 12
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(a). (H No diréctofs are singcrs. Some producers are Singers. ﬁlus so_m‘c producers are
not diféctoﬁ. . |
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(ii) No craft persons are shop owners. All weavers are craft persons. Therefore, no

weavers are shop owners.
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®) (O (x)(Mx DNy
. (ax)(mx-ox)
- (3x) (Ox * Nx)
@ (0 BxD~Cx)
(3x) (Cx * Dx)

o (3x) (Dx » ~ Bx) -

"Prove the invalidity of the following (any wo) :

Frefefan afwdl @ sdve fog @i (B @) -
®  (3x)(Ax *Bx)

(3x) (Cx * Bx)

= (x) (Cx D ~ Ax)
(i) (x)(Gx D Hx)

(x) (Gx D Ix) /- (x) (Ix D Hx)

@iy (x)(Px o ~Qx)
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(x) (Px D ~ Rx) / = (x) (Rx O~ Qx)
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